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[ 7] (1 think it is a good idea because) we don't have to tell them what to do. Tt is a
great help if robots can do easy things by themselves. They will be able to wash
dishes or clean rooms when they should do. I hope in the fiture robots will do many
(Fd8) things by themselves. ‘(48words) 9
[T ] (I don't think it is a good idea because) robots may have a lot of power. Iff
robots can decide what to do by themselves, they may not follow our orders. And}
robots may do something we don't want them to do. So I don't think we should make
such robots. {42words)
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(97) (Mr. Yoshikawa) listened to the performance by Takashi and learned that 6
‘p Takashi's grandfather kept his violin for him. (18 words)
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